Güler Gürpınar Arsan and Abdülkadir Özdeğer

Bianchi surfaces whose asymptotic lines are geodesic parallels

Abstract: It is proved that every Bianchi surface in E^3 of class C^4 whose asymptotic lines are geodesic parallels is either a helicoid or a surface of revolution.

Keywords: Bianchi surface, asymptotic line, geodesic parallel, geodesic ellipse, geodesic hyperbola, helicoidal surface.

2010 Mathematics Subject Classification: Primary 53A30; Secondary 53A40

Güler Gürpınar Arsan: Istanbul Technical University, Faculty of Science and Letters, Department of Mathematics, 34469 Maslak-Istanbul, Turkey, email: ggarsan@itu.edu.tr

Abdülkadir Özdeğer: Kadir Has University, Faculty of Engineering and Natural Sciences, Department of Industrial Engineering, 34083, Cibali-Istanbul, Turkey, email: aozdeger@khas.edu.tr

Communicated by: G. Gentili

1 Introduction

Let *S* be a smooth surface in the euclidean space E^3 with negative Gaussian curvature $K = -1/\rho^2$ where $\rho > 0$. If the asymptotic lines on *S* are taken as the parametric lines, the fundamental forms become

$$I = Edu^2 + 2Fdudv + Gdv^2, \tag{1}$$

$$II = 2Mdudv, \tag{2}$$

where u and v are the asymptotic parameters. S is called a *Bianchi surface* if K can be expressed in the asymptotic parameters (u, v) as

$$K = -1/\rho^2, \quad \rho = U(u) + V(v)$$
 (3)

where U(u) and V(v) are arbitrary functions of their arguments [1; 2; 3]. Equivalently, a Bianchi surface can be characterized by

$$\frac{\partial^2}{\partial u \partial v} \left(-K\right)^{-1/2} = 0. \tag{4}$$

Bianchi surfaces have been studied by a number of mathematicians and physicists [4; 6; 5; 7; 8] from the view point of integrable systems. In [4], A. Fujioka introduced the concept of a generalized Chebyshev net and then proved that a Bianchi surface with constant Chebyshev angle parametrized by a generalized Chebyshev net is a piece of a right helicoid. It is well-known that the asymptotic line nets on a hyperbolic surface in E^3 have some important properties. Namely, if the asymptotic lines form a Chebyshev net on such surfaces, then these surfaces are of constant Gaussian curvature which constitute a special class of Bianchi surfaces.

In the present paper, Bianchi surfaces whose asymptotic lines constitute a system of geodesic parallels are considered and it is proved that such surfaces are helicoids or surfaces of revolution. It is to be noted that the net of asymptotic lines on *S* which are geodesic parallels constitutes an example for generalized Chebyshev nets with non-constant Chebyshev angle. In what follows we will assume that ω is not constant since otherwise *K* would be zero. We need the following theorem:

Theorem ([3; 9]). *If two independent systems of geodesic parallels on S are chosen as parametric lines, then the element of arc can be written in the form*

$$ds^{2} = \csc^{2}\omega(du^{2} + 2\cos\omega\,dudv + dv^{2}), \tag{5}$$

where ω with $0 < \omega < \pi$ is the angle between the parametric lines and conversely.

From (1), (2) and (5) it follows that

$$E = G = \csc^2 \omega, \quad F = \cos \omega \csc^2 \omega \tag{6}$$

$$L = N = 0, \quad M \neq 0 \tag{7}$$

$$K = -\left(\frac{M}{H}\right)^2, \quad H = \sqrt{EG - F^2}.$$
(8)

Using (6), (7) and (8), we can write the Mainardi–Codazzi equations ([3, p. 156], [9, p. 111]) in the form

$$-\frac{\partial}{\partial u}\left(\frac{M}{H}\right) - 2\Gamma_{12}^{2}\left(\frac{M}{H}\right) = 0, \qquad -\frac{\partial}{\partial v}\left(\frac{M}{H}\right) - 2\Gamma_{12}^{1}\left(\frac{M}{H}\right) = 0$$

or

$$(\ln\sqrt{-K})_u = -2\Gamma_{12}^2,$$
 (9)

$$(\ln \sqrt{-K})_v = -2\Gamma_{12}^1 \tag{10}$$

with $\Gamma_{12}^1 = \frac{1}{2}H^{-2}(EE_v - FE_u)$ and $\Gamma_{12}^2 = \frac{1}{2}H^{-2}(EE_u - FE_v)$, see [9]. The integrability condition for (9) and (10) is

(

$$\Gamma_{12}^1)_u = (\Gamma_{12}^2)_v. \tag{11}$$

By (6), the Equations (9), (10) and (11) take the respective forms

$$(\ln \sqrt{-K})_{\mu} = 2 \cot \omega \csc^2 \omega (\omega_{\mu} - \omega_{\nu} \cos \omega), \qquad (12)$$

$$(\ln \sqrt{-K})_v = 2 \cot \omega \csc^2 \omega (\omega_v - \omega_u \cos \omega), \tag{13}$$

$$(2 + \cos^2 \omega)(\omega_u^2 - \omega_v^2) - (\omega_{uu} - \omega_{vv})\sin\omega\cos\omega = 0.$$
⁽¹⁴⁾

On the other hand, by (6), the Gaussian curvature ([9, p. 114]) of S is found as

$$K = -(\omega_u^2 + \omega_v^2)\frac{1 + \cos^2\omega}{\sin^2\omega} + (\omega_{uu} + \omega_{vv})\frac{\cos\omega}{\sin\omega} + 4\frac{\cos\omega}{\sin^2\omega}\omega_u\omega_v - \frac{1 + \cos^2\omega}{\sin\omega}\omega_{uv}.$$
 (15)

We now introduce the new parameters (ξ, η) defined by

$$u+v=\xi, \quad u-v=\eta.$$

We note that the curves ξ = const and η = const are respectively, the geodesic ellipses and geodesic hyperbolas [3; 9]. Then, since

$$\omega_{u} = \omega_{\xi} + \omega_{\eta}, \quad \omega_{v} = \omega_{\xi} - \omega_{\eta}, \quad \omega_{uu} = \omega_{\xi\xi} + 2\omega_{\xi\eta} + \omega_{\eta\eta}, \quad \omega_{vv} = \omega_{\xi\xi} - 2\omega_{\xi\eta} + \omega_{\eta\eta}, \quad \omega_{uv} = \omega_{\xi\xi} - \omega_{\eta\eta},$$

equations (12), (13) and (14) transform respectively into

$$(\ln \sqrt{-K})_{\xi} + (\ln \sqrt{-K})_{\eta} = 2 \cot \omega \csc^2 \omega [(1 - \cos \omega)\omega_{\xi} + (1 + \cos \omega)\omega_{\eta}], \tag{16}$$

$$(\ln \sqrt{-K})_{\xi} - (\ln \sqrt{-K})_{\eta} = 2 \cot \omega \csc^2 \omega [(1 - \cos \omega)\omega_{\xi} - (1 + \cos \omega)\omega_{\eta}], \tag{17}$$

$$\omega_{\xi\eta} = \frac{2 + \cos^2 \omega}{\sin \omega \cos \omega} \omega_{\xi} \omega_{\eta} \quad \text{with } \omega \neq \frac{\pi}{2}.$$
 (18)

Adding and subtracting (16) and (17) side by side we obtain

$$(\ln \sqrt{-K})_{\mathcal{E}} = 2 \cot \omega \csc^2 \omega (1 - \cos \omega) \omega_{\mathcal{E}}, \tag{19}$$

$$(\ln \sqrt{-K})_{\eta} = 2 \cot \omega \csc^2 \omega (1 + \cos \omega) \omega_{\eta}.$$
 (20)

Integration of (19) and (20) gives respectively

$$\sqrt{-K} = r(\eta) \tan \frac{\omega}{2} e^{-\frac{1}{2} \tan^2 \frac{\omega}{2}},\tag{21}$$

$$\sqrt{-K} = s(\xi) \cot \frac{\omega}{2} e^{-\frac{1}{2} \cot^2 \frac{\omega}{2}},\tag{22}$$

where $r(\eta)$ and $s(\xi)$ are arbitrary positive functions of their arguments. From (21) and (22) we get

$$t = a(\xi) + b(\eta) = \frac{1}{2} \left(\tan^2 \frac{\omega}{2} - \cot^2 \frac{\omega}{2} \right) - 2 \ln \left(\tan \frac{\omega}{2} \right)$$
(23)

where $a(\xi) = -\ln s(\xi)$ and $b(\eta) = \ln r(\eta)$. According to the implicit function theorem, under certain Conditions (23) defines ω as a function of $a(\xi) + b(\eta)$ which will be denoted by

$$\omega = \omega(t). \tag{24}$$

Differentiating (23) with respect to t we find that

$$\omega'(t) = \frac{1}{4} \tan^2 \omega \sin \omega,$$

$$\omega''(t) = \frac{1}{16} \tan^5 \omega (2 + \cos^2 \omega)$$
(25)

which will be needed later. On the other hand, $\omega(t)$ must satisfy the integrability Condition (18). Since

$$\omega_{\xi} = \omega'(t) a'(\xi), \quad \omega_{\eta} = \omega'(t) b'(\eta), \quad \omega_{\xi\eta} = \omega''(t) a'(\xi) b'(\eta),$$

equation (18) is transformed into

$$\left[\omega''(t) - \frac{2 + \cos^2 \omega(t)}{\cos \omega(t) \sin \omega(t)} {\omega'}^2(t)\right] a'(\xi) b'(\eta) = 0$$

in which primes indicate the derivatives with respect to the corresponding variables.

Here we distinguish three cases:

Case 1. $a'(\xi) = b'(\eta) = 0$. This implies $\omega = \omega(t) = \text{const.}$ This cannot happen since $K \neq 0$.

Case 2. $a'(\xi) \neq 0$, $b'(\eta) = 0$ or $a'(\xi) = 0$, $b'(\eta) \neq 0$. In this case ω and, consequently, by (6), (8) and (22), the coefficients of the fundamental forms of *S* depend on the single parameter $\xi = u + v$. But this means that *S* is a helicoid or a surface of revolution [3].

Case 3. $a'(\xi).b'(\eta) \neq 0$ and $\omega''(t) - \frac{2+\cos^2 \omega(t)}{\cos \omega(t) \sin \omega(t)} {\omega'}^2(t) = 0$. The general solution of this differential equation is found to be

$$\frac{1}{8}\left(\tan^2\frac{\omega}{2} - \cot^2\frac{\omega}{2}\right) - \frac{1}{2}\ln\left(\tan\frac{\omega}{2}\right) = ct + c_1,$$

$$t = a(\xi) + b(\eta)$$
(26)

where c_1 and c > 0 are arbitrary constants. Comparing (23) with (26) we obtain

$$\left(c - \frac{1}{4}\right)[a(\xi) + b(\eta)] + c_1 = 0.$$
 (27)

If $c \neq \frac{1}{4}$, equation (27) implies that $a(\xi) = \text{const}, b(\eta) = \text{const}$ which contradicts the first hypothesis $a'.b' \neq 0$ in the Case 3. So we have $c = \frac{1}{4}$ and $c_1 = 0$. Then (26) reduces to

$$t = a(\xi) + b(\eta)$$

= $\frac{1}{2} \left(\tan^2 \frac{\omega}{2} - \cot^2 \frac{\omega}{2} \right) - 2 \ln \left(\tan \frac{\omega}{2} \right), \quad a'.b' \neq 0.$ (28)

Hence we have

Theorem 1. If the two families of the asymptotic lines on *S* are geodesic parallels, then *S* is either a helicoid or a surface of revolution, or the angle ω between the asymptotic lines which allows us to determine *S* is given by

$$\frac{1}{2}\left(\tan^2\frac{\omega}{2} - \cot^2\frac{\omega}{2}\right) - 2\ln\left(\tan\frac{\omega}{2}\right) = a(\xi) + b(\eta), \quad a'.b' \neq 0$$

2 Bianchi surfaces whose asymptotic lines constitute a system of geodesic parallels

Since, under the transformation $\xi = u + v$, $\eta = u - v$,

$$\begin{split} \omega_{u} &= \omega'(t)(a'(\xi) + b'(\eta)), \\ \omega_{v} &= \omega'(t)(a'(\xi) - b'(\eta)), \\ \omega_{uv} &= \omega''(t)(a'^{2}(\xi) - b'^{2}(\eta)) + \omega'(t)(a''(\xi) - b''(\eta)), \\ \omega_{uu} &= \omega''(t)(a'(\xi) + b'(\eta))^{2} + \omega'(t)(a''(\xi) + b''(\eta)), \\ \omega_{uv} &= \omega''(t)(a'(\xi) - b'(\eta))^{2} + \omega'(t)(a''(\xi) + b''(\eta)), \end{split}$$

Equation (15) transforms into

$$K = \left[-(1 - \cos \omega)^2 a'^2 + (1 + \cos \omega)^2 b'^2 \right] \frac{\omega''}{\sin \omega} - \left[(1 - \cos \omega)^2 a'^2 + (1 + \cos \omega)^2 b'^2 \right] \frac{2\omega'^2}{\sin^2 \omega} + \left[-(1 - \cos \omega)^2 a'' + (1 + \cos \omega)^2 b'' \right] \frac{\omega'}{\sin \omega}.$$
(29)

Using (22), (25) and (29), we obtain

$$(1 - \cos \omega)^{2} a'' + \frac{1}{4} \tan^{2} \omega \sec \omega [\sin^{4} \omega + (1 - \cos \omega)^{2}] a'^{2} - (1 + \cos \omega)^{2} b'' - \frac{1}{4} \tan^{2} \omega \sec \omega [\sin^{4} \omega + (1 + \cos \omega)^{2}] b'^{2} = 4 \cot^{2} \frac{\omega}{2} \cot^{2} \omega e^{-2a(\xi)} e^{-\cot^{2} \frac{\omega}{2}}$$

or

$$a'' - \cot^4 \frac{\omega}{2} b'' + \frac{\tan^2 \omega}{4 \cos \omega} \left(4 \cos^4 \frac{\omega}{2} + 1 \right) a'^2 - \frac{\tan^2 \omega}{4 \cos \omega} \cot^4 \frac{\omega}{2} \left(4 \sin^4 \frac{\omega}{2} + 1 \right) b'^2 = \frac{\cot^2 \frac{\omega}{2}}{\sin^4 \frac{\omega}{2}} \cot^2 \omega e^{-2a(\xi)} e^{-\cot^2 \frac{\omega}{2}}.$$
 (30)

On the other hand, by (3) and (22) we find

$$\rho = \frac{1}{\sqrt{-K}} = e^{a(\xi)} \tan \frac{\omega}{2} e^{\frac{1}{2} \cot^2 \frac{\omega}{2}}.$$
(31)

.

Suppose now that *S* is a Bianchi surface. According to (4), the condition for *S* to be a Bianchi surface is

$$\frac{\partial^2}{\partial u \partial v} (-K)^{-1/2} = -4e^{a(\xi)} e^{\frac{1}{2}\cot^2\frac{\omega}{2}} \frac{\sin^4\frac{\omega}{2}}{\sin 2\omega} \Big\{ a'' - \cot^2\frac{\omega}{2} b'' + \Big[1 + \cot^2\frac{\omega}{2} + \frac{1}{4}\cot^2\frac{\omega}{2}\tan^2\omega\Big(\sec\omega - \cot^2\frac{\omega}{2}\Big)\Big] a'^2 - \Big[\frac{1}{4}\cot^2\frac{\omega}{2}\tan^2\omega\Big(\sec\omega - \cot^2\frac{\omega}{2}\Big)\Big] b'^2 \Big\} = 0$$

from which it follows that

$$a'' - \cot^2 \frac{\omega}{2} b'' + \left[1 + \cot^2 \frac{\omega}{2} + \frac{1}{4} \cot^2 \frac{\omega}{2} \tan^2 \omega \left(\sec \omega - \cot^2 \frac{\omega}{2}\right)\right] a'^2 - \left[\frac{1}{4} \cot^2 \frac{\omega}{2} \tan^2 \omega \left(\sec \omega - \cot^2 \frac{\omega}{2}\right)\right] b'^2 = 0.$$
(32)

Since

$$\det \begin{bmatrix} 1 & -\cot^4 \frac{\omega}{2} \\ 1 & -\cot^2 \frac{\omega}{2} \end{bmatrix} = \cot^2 \frac{\omega}{2} \csc^2 \frac{\omega}{2} \cos \omega \neq 0,$$

(30) and (32) can be solved for a'' and b''. Calculations being done (which are also verified by using a symbolic computation package) we obtain

$$a'' = A_1 a'^2 + B_1 b'^2 - C_1 e^{-2a},$$
(33)

$$b'' = A_2 a'^2 + B_2 b'^2 - C_2 e^{-2a},$$
(34)

DE GRUYTER

where

$$A_{1} = -\frac{1}{32}(-4 + 11\cos\omega + \cos 3\omega)\sec^{2}\omega\tan^{2}\omega,$$

$$B_{1} = \frac{1}{8}\cos^{4}\frac{\omega}{2}(-12 + 11\cos\omega - 8\cos 2\omega + \cos 3\omega)\cot^{2}\frac{\omega}{2}\sec^{4}\omega,$$

$$C_{1} = \frac{1}{4}e^{-\cot^{2}\frac{\omega}{2}}\cos\omega\csc^{6}\frac{\omega}{2},$$

$$A_{2} = \frac{1}{8}(12 + 11\cos\omega + 8\cos 2\omega + \cos 3\omega)\sec^{4}\omega\sin^{4}\frac{\omega}{2}\tan^{2}\frac{\omega}{2},$$

$$B_{2} = -\frac{1}{32}(4 + 11\cos\omega + \cos 3\omega)\sec^{2}\omega\tan^{2}\omega,$$

$$C_{2} = e^{-\cot^{2}\frac{\omega}{2}}\cot\omega\csc^{2}\frac{\omega}{2}\csc\omega.$$

Differentiating (33) with respect to η and using the fact that $\omega' b' \neq 0$ we find

$$a'^{2}\frac{dA_{1}}{d\omega} + \frac{2b''B_{1}}{\omega'} + b'^{2}\frac{dB_{1}}{d\omega} - e^{-2a(\xi)}\frac{dC_{1}}{d\omega} = 0.$$
 (35)

If we use (34), equation (35) becomes

Α

$$A_3 {a'}^2 + B_3 {b'}^2 = C_3 e^{-2a}, (36)$$

where

$$A_{3} = \frac{dA_{1}}{d\omega} + \frac{2B_{1}A_{2}}{\omega'}, \quad B_{3} = \frac{2B_{1}B_{2}}{\omega'} + \frac{dB_{1}}{d\omega}, \quad C_{3} = \frac{2B_{1}C_{2}}{\omega'} + \frac{dC_{1}}{d\omega}.$$

Similarly, differentiating (34) with respect to ξ and remembering that $\omega' a' \neq 0$ and using (33) we have

$$A_4 {a'}^2 + B_4 {b'}^2 = C_4 e^{-2a}, (37)$$

where

$$A_4 = \frac{2A_1A_2}{\omega'} + \frac{dA_2}{d\omega}, \quad B_4 = \frac{2A_2B_1}{\omega'} + \frac{dB_2}{d\omega}, \quad C_4 = \frac{dC_2}{d\omega} - \frac{2C_2}{\omega'} + \frac{2A_2C_1}{\omega'}.$$

Since

det
$$\begin{bmatrix} A_3 & B_3 \\ A_4 & B_4 \end{bmatrix} = \frac{1}{4}(5 + \cos 2\omega) \sec^6 \omega \tan^2 \omega \neq 0$$
,

the system defined by (36) and (37) can be solved for a'^2 and b'^2 yielding

$$a^{\prime 2} = \lambda(a, \omega), \tag{38}$$

$$b^{\prime 2} = \mu(a, \omega), \tag{39}$$

where

$$\begin{split} \lambda(a,\omega) &= \frac{1}{16} e^{-2a} e^{-\cot^2 \frac{\omega}{2}} \cos^2 \omega (5+3\cos 2\omega) \csc^8 \frac{\omega}{2}, \\ \mu(a,\omega) &= e^{-2a} e^{-\cot^2 \frac{\omega}{2}} (5+3\cos 2\omega) \cot^2 \omega \csc^2 \omega. \end{split}$$

From (38) it follows that ω is a function of ξ . Then (28) implies that $b(\eta) = \text{const}$ which contradicts the hypothesis $a'(\xi)b'(\xi) \neq 0$ involved in Case 3. Therefore, Case 3 cannot happen. So, only Case 2 should be considered which means that *S* is a helicoid or a surface of revolution [3].

On the other hand, according to Bour's theorem ([3, p. 147]) every helicoid is applicable to some surface of revolution.

Now it remains to determine ω in terms of $a(\xi)$. Then all the coefficients of the fundamental forms of *S* can readily be obtained. To this end, in Case 2, let $a'(\xi) \neq 0$, $b'(\eta) = 0$. Then, (33) and (34) take the respective forms

$$a'' = A_1 a'^2 - C_1 e^{-2a}, (40)$$

$$0 = A_2 a'^2 - C_2 e^{-2a}.$$
 (41)

6 — G. G. Arsan and A. Özdeğer, Bianchi surfaces whose asymptotic lines are geodesic parallels

DE GRUYTER

Eliminating a'^2 between (40) and (41) and observing that $A_2 \neq 0$ for $\omega \in (0, \pi)$, we obtain

$$e^{2a}a'' = \frac{A_1C_2 - A_2C_1}{A_2} = \Lambda(a)$$
(42)

where

$$\Lambda(a) = \frac{-16e^{-\cot^2 \frac{\omega}{2}}\csc^2 2\omega(2\cos\omega + \sin^2\omega)\cos^4\omega}{(12+11\cos\omega + 8\cos 2\omega + \cos 3\omega)\tan^2 \frac{\omega}{2}\sin^4 \frac{\omega}{2}} \quad \text{and} \quad \omega = \omega(a).$$

Putting a' = z, $a'' = \frac{dz}{da}a' = z\frac{dz}{da}$ in (42) and remembering that $a' \neq 0$, we get

$$z\,dz=e^{-2a}\Lambda(a)\,da,$$

the integration of which gives

$$\frac{z^2}{2} = \frac{{a'}^2}{2} = \int e^{-2a} \Lambda(a) \, da + c_0$$

 $\int \frac{da}{\Omega(a)} = \xi + c_2$

(43)

with an arbitrary constant c_0 , or

with an arbitrary constant c_2 and

$$\Omega(a) = \mp \sqrt{2\left[\int e^{-2a}\Lambda(a)\,da + c_0\right]}.$$

Summing up what we have found above, we can state the main theorem as follows:

Theorem 2. Every Bianchi surface in E^3 of class C^4 whose asymptotic lines are geodesic parallels is a helicoid or a surface of revolution and consequently, every such surface is applicable to some surface of revolution.

References

- L. Bianchi, Sopra alcune nuove classi di superficie e di sistemi tripli ortogonali. Annali di Mat. (2) 18 (1890), 301–358. JMF 22.0766.05
- [2] L. Bianchi, Lezioni di geometria differenziale. Pisa, 1909. JMF 40.0658.02
- [3] L. P. Eisenhart, A treatise on the differential geometry of curves and surfaces. Dover Publications, New York 1960. MR0115134 (22 #5936) Zbl 0090.37803
- [4] A. Fujioka, Bianchi surfaces with constant Chebyshev angle. *Tokyo J. Math.* 27 (2004), 149–153.
 MR2060081 (2005d:53010) Zbl 1081.53004
- [5] D. A. Korotkin, On some integrable cases in surface theory. *Zap. Nauchn. Sem. S.-Peterburg. Otdel. Mat. Inst. Steklov.* (*POMI*) 234 (1996), 65–124, 262–263. MR1856079 (2003b:37112) Zbl 0964.53007
- [6] D. A. Korotkin, V. A. Reznik, Bianchi surfaces in R³ and deformations of hyperelliptic curves. *Mat. Zametki* 52 (1992), 78–88, 158. MR1194130 (93k:53003) Zbl 0804.53010
- [7] D. Levi, A. Sym, Integrable systems describing surfaces of nonconstant curvature. *Phys. Lett. A* 149 (1990), 381–387.
 MR1075779 (91g:58118)
- [8] M. Nieszporski, A. Sym, Bianchi surfaces: integrability in an arbitrary parametrization. J. Phys. A 42 (2009), no. 40, article ID 404014, 10 pp. MR2544278 (2010):53008) Zbl 1228.37052
- [9] D. J. Struik, *Lectures on Classical Differential Geometry*. Addison-Wesley Press, Cambridge, Mass. 1950. MR0036551 (12,127f) Zbl 0105.14707

Received 11 October, 2012.